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Q12. Which is the 3" |etter of the 2"d word from the left end in step 1?

Q13. How many letters are there between 3" letter of the 4" word from the right end and 3™
letter of the 2" word from the right end in step 2 ?

Q14. How many letters are there in total in step 3?

Q15. What is the difference between 4t highest & 3" lowest number in step 4?



Input: Flower Pushpa Dragon Narrow Profit Inside Octave

Stepl: Lfwore Supaph Rdgano Anrrwo Rpfoti Sniedi Tco
Step2: Lfwore Suah Rdgano Anwo Rpfoti Sned Tcoeva

Step3: Lwore Sua Rgao Awo Roi Se Coea
Step4 177 2018 333 1614 279 2414 42
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7 boxes with different number of balls are arranged in three group A, group B and group C. Each box is coded after

following certain rule step by step as given below: 1\ _ﬁ—)\ N - \/
e - L

o >
Aw are coded each box are rearranged in ascending order of their box code. First three boxes are from group A,
/ /—— . . ’ ———————
next twQ boxes are from group B and remaining two boxes are from group C. l
— L

Wo-a)g KRYD DIV




5. What is the difference of box code from group C?

A.44 8,
el (36’;_.’223 — uq%

C.74 — =
D. 56 Lﬁ'_b_)
E. None of these 4 L__/

6/What is the difference betweer‘Eumber of balls"rom first box from group A and last box from box B?
(Consider first box from top to bottom)
A. 165

E: ig@ Fapr (No- + \;ﬂ&) @ @
g;ﬁlone of these — & %@ D

Boxcod@  Box (°




7. What is the value in step lll of the second box from group A?
6 — — -—ﬁ

B. 40
C.54 ,@
D. 32

%one of these

8. What is the sum of value from—of first box from all the three groups taken together?

E D ® 6 O
%.//1195?. 10 ‘g RZ

E. None of these

grp- I )6+ B —+ MY




Number\ Step | Step | Step | Step | Box

ofItem¢t I | II | III | IV | Code |
813) | 271]542] 40 | 16 10~
273 {-) 91 | 182 L@y 49 H @3]
663 221 | 442 | 32 | 25 157
684 /[ 171|513 ] 15 | 36 18~
Y348 | 112|336 | 54 | 81 73
224 56 | 168 | 48 | 144
636 159 | 477 | 196 | 256

>

— —_—
128
—

)

9-5(@1\\1'

Following logic are applied in step by step to determine box code:
Case (1): If number of items are odd.

For Step I: divide item number by 3.

For Example:- 381/3 = 127

For Step II: Multiply number obtained from step | by 2.

For Example:- 127 x 2 = 254

Case (2): If number of items are even:

For step I: divide number by 4.

For Example: 324/4 = 81

196—7"| For Step II: Multiply number obtained from step | by 3.

For Example:- 81 x 3 =243

Remaining steps for both odd and even numbers are same.
For Step lll: Product of digits from step Il are taken.

For Example:- (2x5x 4) =40

o< €~ For Step IV: Square of sum of digits from step Ill are taken.

5 =

For Example:- (4 + 0) =42=16

For Box Code:- difference of number and product of digits are taken from step
IV.

For Example:- 16 - (1 x 6) = 10



Input = CaeoDr = Gepiid

b
@/343 636 Te3g(259)| 727 687 ﬁ ?;:T 6 ;_8_ ObCSC‘JYu"ﬂoOD.\
438 724 |—> | 5294 35 | (535 63 ‘r_mgc)
926 (472 | 396 83? 5§_:i_ )f B ‘5'@ 2'3"‘_3 (o)A) 9 .H' ‘
% 'q QS Step IV - (’1):” Step III :)(‘Q) — 5 .
- ( 6 -\»(3 ‘Z)-\ L@DJEI_F' E2D 156) \E18 | E2L »L OA a C"“‘SP"‘&’“
\ CIH IIF | «— | C15 % 118 £ event Letfex
0dd K1B| C4H | E2B E24 -
("}m b /é@
Input 3&3 6 A’ D(“) @ ) 678,3 )63
369 | 724 | 985 .% DM J,
438 683 g) E
773|328 | 876 - (5




9. What is the product of digits of the number at cell 3x1 in step II?
A.378
B.144
C.324

D.216 ‘/

E. None of these

=

10. Which of the following represents the code at 1x3 in step IV?
A.K1z

B.L3X _—
C.z1m '
D.K3Y

E. None of these



11. What is the difference between the numbers formed in the cell 1x2 and 3x1 in step II?
A.43

B.72

C.55

D.102

E.56

12. Which of the following cell number represents the code “Z15” in step IlI?
A.3x3
B.1x2
C.3x1
D.2x3

E.None of these



Input Step I Step II

369 | 724 | 985 278 | 635 -894 267 | 639 |862
438 683 |—> I529 . .792 ‘—) | 592 . 729
773|328 876‘ ‘662. 239 . 967‘ | 694’ 235 | 978
Step IV \L Step III
E4Z|12] | K1Z E42 | 127 | K12
C1F E1F| «<—— C18 E18
Explanation I3D |E1H | GSD 136 | E15 | G56
We have:

Following logic is applied to get step by step final result:

For Step I: from each odd digit ‘1’ is subtracted and from each even digit ‘1’ is added within the three-digit number.

For Step II: last two digits of the number formed from step 1 are interchanged with cell number as given below in the form of (Row, Column).

(1,1)->(3, 3)

(1, 2) ->(3, 2)

(1,3)->(3,1)

(2,1)->(2, 3)

For step Ill: we have two possible conditions:

Case (1): If the first digit from step Il is an even digit, then add ‘3’ and replace that number with a corresponding letter in English alphabetical series, similarly multiply last
two digits.

For Example: 687 -> 156

Case (2): If the first digit from step Il is odd, then subtract ‘2’ and replace that number with a corresponding letter in English alphabetical series, similarly multiply last two
digits.

For Example: 737 -> E21

For Step IV: We have two possible conditions:

Case (1): If the last digit from step Il is an even digit, then subtract ‘2’ and replace that number with a corresponding letter in English alphabetical series.

For Example:- 156 -> I5D

Case (2): If the last digit from step Il is odd, then add ‘3’ and replace that number with a corresponding letter in English alphabetical series.

For Example: E21 -> E2D



Step I % | [:l
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Step IV 7y 3B _Sj—
Input:
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13) What is the difference of the square of the digits in step IV of the given input?
A.12 B.13 C.5D. 16 E. None of these

14) What is different of the square of the numbers obtained in step Il of the given input?
A. 1296 B. 832 C. 1071 D. 1362 E. 616

15) What is the sum of the digits of the highest number in step Il of the given input?
A.5B.8C.9D. 12 E. None of these



Input:
(9[8[ 2[4 [4]8][3[7][7[5][3]2][3]8][2]¢]

Stepl: [5]6] 35 EH

Step II:
Step I1I: [3]5]
Step [V: 1213

Step I: In this step following logic is applied:

[£]5] B[4
(+5:=2)  (2+4=2)
[02] (2]

Clearly, in step 3, the digits of the result are
reversed.
Step IV: In this step following logicis applied:
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Q1e6. If all the letters are replaced with opposite letters (according to the alphabetical order) in (A) then its letters are
written in reverse alphabetical order from left to right so find the 4" letter from the left in this new word?

Fecas Bﬁ =

7 Qp

mogoOow>
I NDH

17. What will be the sum of squared digits of the alphabetical place values of letters in (B) ?
49

Q

A.

B. 56

Iy = @
D. 74

E.

13

18. What will be subtraction of (C) and (D) ? @
. 307 /

Q

A

B. 180437
C. 20307 /7
D. 1837

E. None of these



Logic:

Step 1 - If number of letters in the word is odd, then reverse the order of the word and if the number of letters in the
word is even, then exchange 1%t letter with 2" |etter, 37 letter with 4t letter and so on. For number add the alphabetical
place value of 15t and last letter if number of letter is even and subtract the alphabetical place value of 1%t and last letter
if number of letter is odd.

Step 2 — Reverse of highest and lowest letter is written and for number add sum of the digits and product of the digits of
the number.

Step 3 — Add all the place values of the 1t letter then add all the place values of the 2" |etter and add all the numbers
and write it in this order.

Step 4 — Write product of 1%t and last digit, 2"9 and 2" last digit and so on.



